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1) SA = 2mr2 + 21rh
=2(3.14)(2m)2 + 2(3.14)(2m)(7m)
=2(3.14)(4m2) + 2(3.14)(2m)(7m)
=25.12 m2 + 87.92 m2
=113.04 m2

2) SA = 212 + 21irh
=2(3.14)(10ft)2 + 2(3.14)(10ft)(13ft)

= 2(3.14)(100ft2) + 2(3.14)(10ft)(13ft)
=628 i + 816.4 f2
= 1444 4 ft2

3) SA = 21r2 + 21irh

=2(3.14)(6cm)2 + 2(3.14)(6 cm)(12 cm)
=2(3.14)(36 cm2) + 2(3.14)(6 cm)(12 cm)
=226.08 cm2 + 452.16 cm?

=678.24 cm?

4) SA = 2mr2 + 21irh

=2(3.14)(9cm)2 + 2(3.14)(9 cm)(11 cm)
=2(3.14)(81 cm?) + 2(3.14)(9 cm)(11 cm)
=508.68 cm? + 621.72 cm?

=1130.4 cm2

5) SA = 2mr2 + 2mrh

= 2(3.14)(6ft)? + 2(3.14)(6ft)(13ft)
= 2(3.14)(36ft2) + 2(3.14)(6f)(13ft)
= 226.08 ft2 + 489.84 ft2

=715.92 ft2

6) SA = 212 + 21rh
= 2(3.14)(8ft)2 + 2(3.14)(8ft)(13ft)
= 2(3.14)(64ft2) + 2(3.14)(8ft)(13ft)
=401.92 ft2 + 653.12 ft2
=1055.04 ft2

7) SA = 212 + 21rh
=2(3.14)(10m)2 + 2(3.14)(10m)(15m)

=2(3.14)(100m2) + 2(3.14)(10m)(15m)
=628 m2 + 942 m2
=1570 m2

8) SA = 2mr2 + 2mrh
= 2(3.14)(6in)? + 2(3.14)(6in)(15in)
=2(3.14)(36in2) + 2(3.14)(6in)(15in)
=226.08 in2 + 565.2 in2
=791.28 in2

9) SA = 2mir2 + 21rh
=2(3.14)(4m)2 + 2(3.14)(4mm)(9mm)
=2(3.14)(16m2) + 2(3.14)(4mm)(9mm)
=100.48 mm2 + 226.08 mm?
= 326.56 mm?
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Volume of a Cylinder

We use the same formulato find the volume of a cylinder.

72{ Volume = Area of the base x heighftﬁ\’

What is the base of a cylinder?

* Area of Circle = ¢ # k\{
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Name :

Teacher :

Score :
Date :

Volume of Prisms and Cylinders

Find the volume for each figure. Round your answers to the nearest hundredth, if necessary.

1)

8cm

Volume:

4)

10 in

Volume:

7)

Volume:

2)
12 in
Volume:
5)
10 mm
Volume:
8)
/—'——\\
N
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7
Volume:

3)

8 mm

Volume:

6)

8cm

Volume:

9)

Volume:
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Volume of Prisms and Cylinders

Find the volume for each figure. Round your answers to the nearest hundredth, if necessary.

1)
8cm
= 6 cm
\~___-—/
Volume:  226.19 cm’
K .
10in
]
Volume:  1539.38in’
7)
Volume: 301.59°

2)
12 in
i 8 in
\___—_‘_,/
Volume:  603.19in°
5)
10 mm
Volume:  384.85 mm’
8)
/——\\
\V/
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70
Volume: _ 384.85°

? -
8 mm
[ ]

Volume:  904.78 mm’

Y -
8cm
]

Volume:  904.78 cm®

9)

Volume:  301.59°
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